EEEXFYYH—ER R

I

ENET

Hokushinetsu

HCFL (288 —%) A2 HANo.7|218 TY/R—MEH EELS idaatial =S
#8 2023 £ 48 29 B () 10:30 ¥vo47| %M i5 |5& 280 °C|® POV
evy RRE ESE ‘R pvFazviat- HIRE
IE  RBIE# [BIE1 HAE—% B |E4E BBST
R—LF—L — TIzAF—L
_ 0 0 @i 5] 9 N
Eapuky Olow )% fmEpk
H BHE 0 — 0 Kick off e Kick off BbE 0 — 3 &
Alim - e FETIT - e mrnn) | 2
2N ze (BT e mEe (T T .. o
A | |E M| pTdE | %E |we|e|m/Es|E R g | Bd |e|=e|mmms| | 8
o| [-[2] BARE alokjiz| ER ME #]| 90
90| |oF[4 | LN A3} #|oF[3 | /NI A ARER 1 2 || 90
90| |oF|14 | X EE #IoF|5 | fREE i 2| 90
90| IoF|9 | 1kfE EFH aIvrl9 | A ZKER |1 3 1 69 || 69
67| IoFl11 | BB ZK 67 #|vFl23| {kpE Soal |1 1 1| 90
90| |mF| 7 | FR¥E KA SvF[10]| LM E4&E || 90
go| [vr|17| E HwH 80 #vFj1e| =iE &N |1 1 57 #|| 57
90| |mF|15 | HFE  FI|4E A rw] 11 Bl E 2 1 21| 90
90 [rw|8 | WLE &4 el | R EBE 6 64 || 64
90| w10 | EHR KE A|rwf4| £/ ZE 3 || 90
90| |Fwl20 | I T4 2 s Fw|16 HF EX HT %) | HT
0| |ek6 | EH EE = B|ok[1 ] B+ 1EiH = &|| o0
o| loF[3 | HiE #HInE = 17 %|oF| 2 EX 3 w9 &| o
of Ivrl1ie| BIE EE =x 11 EMF| 7| KEBF FEF 1 =k 19 & 0
o |Fwle| HF #ath =  &|vwF|8 | KAt KIE = &|| o
0 = H|Fw|15 | FE T’ 1 k21 B 0
0 s #lrwl1is| ¥ EEE |2 6 xk 16 & 0
0 = B L 0
0 2 E] =t E] 0
0 R E] = E] 0
aF 2 0 a&t|9| 16 21
=& -R15 oo | o || as s | e | g |EE|EE =585
T e Lol S ant m | | f Rl
79 s c2[16|BE EE 11 8 19] GK 1 1 w+z sl C1| 5| Rk JiE
5 CK 12] of 3 5
N 1 4| EHEFK 3 3 5
2 5] MEFK 2 2
5 2| A7y 2 3 5
5 PK 5

EEEH CLRAKR—VYMITA C2577L— CIEE C4RUELDER C5:EHETH CEIEMAR C7: MIFAIA CeMIFAIH
RIFEH SIFKFRELTL— S2ERGITH SIDIEME S4FREARMEIE(F) SEERHRMIE () SeRE CSE&2E

BEFE ~FUIL >I53908—0IRR 15FEHROD/IRR HATAUTDIRR S¥a—k HSATA4UTYa—k  VsiL—Ya—h
BF R F—L% No.| B =& (No. 7L RR N0 | 7R Ra7 | BREBB eIL—#ido0EFH. EENo., TL—HRE)
5 | EMXKZFE |11 EHA (14 £A 0 — 1 |wzi| 14| = [w21] 11 |Hs
10 5| fEMKZFE |21] /K (1) EH 0 — 2 |A1 11| 1 e 21 |Hs
30 4| BEMRXE |9 BHA |21 /MK 0 — 3 |&2[21|~ &1 9|~ |#1| 9 |As
35 o | (EMKZE |23 {&BE |21 /K 0 — 4 |w:| 21| > &1 23 |&s
43 #| EMRZE |19 =FH |9 BN 0 — 5 |®x1| 9 | = k2 19 |Fs
61 #| EMKZE |21 /K |23] {E7% 0 — 6 |wxe| 23| > |wx2| 21| ~ [wxi] 21 | s
71 9| {EMXKE |11 EH |10] £H 0 — 7 [wxe| 10| = |&2| 11| ~ |w21| 11 |Fs
81 #| {EMKRZE |18 L&t |15 BB |7 RKEF| 0 — 8 [H1| 7 | T |#21) 15| ~ &1 18 | s
88 #| {EMKZE |18 E#F |11 ;BEHE |14 EB | 0 — 9 |G| 14| T |#1| 11 |»» 21| 18 | Hs
PN _
PN _
PN _
PN _






